Polar Coordinates and Rectangular Coordinates Name

Change to Polar Coordinates

1. (-8,18) 2. (3,-9) 3. (12, 5) 4. (-12, -7)
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Graph each polar coordinate and then change it to rectangular coordinates

5. [-3,15%] 6. [4,-105°] 7. [-5,-75°] 8. [6,285°]
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Graph these polar coordinates and give three more polar names such that -360° < 6 < 360°

9. [5, -80° 10. [-4, 110°]
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In parametric mode, give the settings needed to produce the following.
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14. Rotate triangle ABC around the origin at 160 degrees where A(4,-6) B(-9, 2) C(5, 9)
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15. How could you use a matrix to rotate a figure 160 degrees which is NOT centered at the origin?
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